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3. The Iel4 A 1 aABC o telth. x o] ke Fatelel

H 17} AABC 2] YAlo]22 CE = CD = 3°]|t}.
BC=BD+CD=x+3=10
x=BD=7




oS 1ol A H O+ AABC 9] @4 o]t
AABC = 50cm? ¥ ™, oADOF &] Ho|&
“Fotofet,

> HE:

19 cm?
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A
D
2cC
~6cm-"E

B

1
AOBE = §x6x2:6(cm2)

ISt AOBE = AOCF, AOCF = AOAF,
AOAD = AOBD(RHS &%) 0|2

AOBE + AOCF + AOAD = 1AABC

. OADOF = AAOD + AAOF
= AAOD + ACOF
=25-6
= 19(cm?)




o2 T A4 EE vehd 2-olth A O, = A A4
o] SOl ATl & w, x 4y O] g Fsteizt
A D
0 F
> o
> &= 25

i) A O 7} AABC 9] HIHHS] FA4lo] JloB R AABC 9 94
o|t}.

uw2kA OA = OB = OC

AAOB &= o] 5842+ (- OA = OB)

.. .OAB = /OBA = 70°

A7 Wzhe] 37]9] §h2 180° o] 22 /AOB = 40° ©|t}.
AOBC + o] 5HAZIge|B2 (- OB = 0C)

LOBC = /OCB

/BOC = 180° — ZAOB = 180° — 40° = 140°

5. LOCB = (180° — 140°) + 2 = 20°

x =20

ii) & P 7} ADEF &] Bl o] F4lof 9Joermz ADEF 9] 2|4
o|t}.,

w2t4 PD = PE = PF = 5cm

SLy=25

i), ii) oAl x +y = 25 ]t}




